
Maths: KS2 
A Parking Problem

      How many car parking spaces can we have?

(Not to scale)

What is the total area of the Car Park? ____________

The average size of a car parking space is 4.8m x 2.4m. How many average parking spaces
could fit into this space? ____________________________

The  average  size  of  a  60-seater  coach  is  3.5m  x  18.5m.  How  many  coaches  would
comfortably fit in this space? ___________________

There is 1 coach already parked in the parking area. How many car spaces are left? ________
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